IS

5 =

[y 030

960 600

P135X6=810 300 205 95

125 | 225 5

T EETETETR ~—L T
EEETETEETE oll .
S .
EEEETEETE 1
i i | | (q - =
7 0O L\ Al

210

—U IR —

K-26947 ¥WEMEE420kg

HS
FE NI -

8 |Blfrr2y—(5f) | 2 FrovoLsy ¢125|5)-125GUS
T |BEFv 27— (SEL)| 2 Frovabsy ¢12550-125GU
6 B8 ]
HhoohuRE 2 [BPCC-5D t].2
4 P=ULIwRIY - 42 PPl HSK-100P
3 fbd-IL—4 6 |SPCC-SD t].2
Tl WAV 2 |STKM 20449+ (025.4%Xt 1.6
| lspce-so 1.2
RE| B AR & N M B B %
E R | R4. 2. 18 Sﬁj-ﬁ y— Yy Ay
A R | & i | ® K K 2 W1030+ 68447
4 HSK-26RBK
KEg [1:10 # HEX
S HTINL .




